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OnvHa W wupuHa BacceiHa MeHABTCA B peaynbLTaTe
obpeaxo# kpan GaccedHa no nepumeTpy M100... 130/ mm.
TexHudeckme AaHHbe
] R T S —— 8000 OBLEM YaWwm ............. 27 1 kyb.m
LLIMPMHA ... innnas 3000 Obuém Boadl ............ 26 $2 kyb. m
FryBuHa .......cccvceeransnmnnenas 1550 MepyHeTp NO BHYTP. Mopent GaccedHa TYNOH
TONWMHA CTEHOK ..... B-10 mm rpaHn BopTa .....occccvnsnninnnne: 15,4 M
0% Mnowane sepkana o .... 20,6 M Macca HeTTO ...c.cvveeee.. 300 220 0. | Mposasogurents 000 "Merox-nonkacTp”




